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1-2E persuasive “PEEL” Paragraph
Topic: Should the elderly receive free bus rides?

Although respecting the elderly is Chinese policy, elderly people should not receive free bus

1.1
1.2

rides This-is-for two reasons. Firstly, ifielderly can receive free public transportation it will impact
14 13

all life. If the elderly receive free bug, many peoplci\want to go to work and school will be affected.
15

When it is rush hour, many people will take the bus hom@he elderly also wanj, o to parks, and |1.6

them have free bus card. If they go to park with their friends, the bus wil; ‘e very crowded. So

many people will wait for the next bus, which may make them late. Second, generally there are
1.9 18

buses in every country, and these buses are used by all people. Why only elderly can free bus? They

1.10
can do anything other people also can do, and the child alsi7.eed help in the socie@)should we give

our kids free bus rides, too? There are also soldiers and doctors, who help many people every day,
1.12

and they protect people. I think they afso need free bus. We can give our seats to elderly people on

the bus, because it is we should, and respect for the elderly is traditional culture in China. It usually

has '\bad impact ty'many people. Third, there are a lot of elderly people in the world, like ﬂlina have

11 percen}\people are over 65 years old:tl:lis number is very big. If the all glderly people receive

free bug, they willimpact to economic to government. There are one billion four hundred million

people in Chinﬂover 65 years old people have more than one hundred million. One people&akehbus

need two yuan,;;all elderly?’eople pay it. I think government can make a lot of money in the bus.
— * —
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=mry-epinten, the elderly should no}{ree bus rides in many country. |1.15
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There is no reason for this to be a separate sentence.
the

How? You stated in the previous sentence that it will affect all life and here that people who want to go to
work and school will be affected but you don't say how. You need to be specific and explicit in order to be
persuasive.

rides....who want....

This is not the same thought, which means you cannot just add a comma and throw a new thought into the
same sentence.

So the elderly people would decide to go to the park at dinnertime, (rush hour) rather than preparing or
eating dinner like everyone else? Why wouldn't they go to the park at a time that makes more sense, like
the morning or afternoon?

This seems to be a big IF which makes it difficult to be persuasive.

Because the elderly have worked all their lives and need a bit of a break? Children have parents to pay for
them.

This is not a complete sentence. You do not have a verb.
Again, you can't just keep adding to sentences by throwing in commas.
Why? Where are the child's parents?

So you are arguing that more people should get free bus rides, rather than arguing that the elderly shouldn't
get them? You need to be clear on what you are arguing so that your reader doesn't end up lost.

Is that the point of the bus? To make the government money?
Verb?

countries.
Not in many countries but they should get it in some?
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